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(z+1D)(z+2)(x+3)(x+4) — 3= (2> + 5z +4)(2* + 5z +6) — 3
P’ +5x &AL E, (A+4)(A+6)—3=A2+10A+24 -3
= A2 +10A + 21
= (A+3)(A+7)
AZTICELT, (224524 3)(x?+52+7)
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ab(a — b) + be(b — ¢) + ca(c — a) = a®b — ab® + b*c — be* + ¢*a — ca?
= (b—c)a® — (b* — *)a + (b*c — be?)
= (b—c)a® - (b—C)(b+c)a—|—bc(b—c)
=(b—c){a* — (b+c)a+ bc}
=b-c)a—0b)(a—rc)
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2t + 227 4+ 9 = 2t + 622 — 622 + 222 + 9
=z'+62°+9 — 4z’
= (2% + 3)? — (22)?
= (22 4+ 3+ 22)(2® + 3 — 2z
= (z* + 22+ 3)(2® — 22 + 3)
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2+ yd + 2% = 3zyz = (v +y)* — 3y(z +y) + 2° — 3wyz
= (z+y)®+ 2% —3zy(z +y) — 3zyz2
=(@+y+2)z+y)?—(r+y)z+2°2—3zy(z+y+2)
=(x+y+2)(@*+2zy+y* — 2z —yz+2%) — 3ay(z +y + 2)
= (z+y+2)(2®+2zy + y* — 22 —yz + 2% — 31Y)
=@ +y+2) (@ +y* + 22— 2y —yz — 27)




